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General Instructions :
Read the following instructions carefully and follow them :
(i)  This question paper contains 34 questions. All questions are compulsory.
1)  This question paper contains two sections :
Section A — Macro Economics
Section B - Indian Economic Development

(iit) This' question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

(iv) ~This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

v) ThiS' question paper contains 6 Short Answer Type-II questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

(vt) This. question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.
(vii) Attempt all parts of a question together.

(viii) In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions

has to be attempted.

SECTION A
Macro Economics

1. Read the following statements carefully : 1
The price of a given currency in terms of another is

known as bank rate.
Demand curve for foreign exchange is a downward

sloping curve.
In the light of the given statements, choose the correct option from the

Statement 1 :

Statement 2 :

following :
(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

58/6/2 # 3| Page B P.T.0.



3 1anﬂed
Suppose 1n an economy, planned spendings are greater than P ,

outputs.

Identify the correct option with respect to effe
(1) Decrease in planned inventories in the economy
(i)  Rise in National Income

(iii) Decrease in real output level in the economy
(iv)  Decrease in employment level in the economy

cts on the economy :

Options :
(A)  Only () B) @ and (ii)
(C)  (ii) and (iv) D) (i), (D) and (iv)

source of demand for foreign

Identify, which of the following is not a :
o correct option)

exchange. (Choose th
(A)  Imports of goods and services
(B)  Gifts by Indians to their families living abroad
(C) Indian tourists visiting foreign countries
(D) Loans from Rest of the World
4. Using the given information, complete the following table : 1
(Choose the correct option)
Income (Y) Savings | Consumption | Average Propensity to
(in Tcrore ) | (in Zcrore ) (in Tcrore ) Consume (APC)
0 G 30 | i Al
o 0 g | 1 7|
200 30 e | 0-85 4
300 | 60 240 | 08 \
Options :
(A) -30,120
(B) 30,120
(C) 0,70
(D) -30,100
58/6/2 # 5| Page 248
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f th t :
5. ;07 et 1:otell credit created by the banks is ¥ 500 and Reserve Ratio 18
o, the value of primary deposits would be

(A) Rl
Q). 30

6. Central Bank can decrease the money supply in the economy by

(Choose the correct option to fill in the blank)
B) < 300
(D) < 500

(Choose the correct option to fill in the blank)

(A) lowering the cash reserve

(B) increasing the bank rate

(C) lowering the bank rate

(D)  purchase of G-Secs (Government Securities)

Read the following statements — Assertion (A) and Reason (R) carefully.

7.
Choose the correct option from those given below : 1
Assertion (A) : Other things remaining constant, devaluation of domestic
currency may lead to rise in National Income of the
nation.
Reason (R) :  Devaluation of domestic currency refers to reduction in the
~ value of domestic currency by the government with respect
to foreign currency under the fixed exchange rate system.
Opti'ons :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
(C) Assertion (A)is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.
5 # 7| Page ==
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8.
axis at spe 5
Propensity to Consume (1\/[appoSltlve coordinate, it implies that Marginal
Consume (APC) ©)____ and Average Propensity %
——— as the income increases. L
(Choose the correct, option to fill in the blanks)
(A) remains const :
nstant, rises (B) rises, rises
(C) remains
constant, falls (D) falls, falls
! Identi i W : 4

9 entify, which of the following items will not be included in estimating
National Income of India. (Choose the correct option) 1
(A) Salgry to Indian residents working at the Russian Embassy in

India

(B) Income generated from smuggling
(C) Payments to farm workers in the form of foodgrains
(D) Interest paid by a firm to a bank

10. If the value of Investment Multiplier (K) is 5, the relevant saving
function would be J.

(Choose the correct option to fill in the blank)

(A) S=-60+025Y
(B) S=-60+075Y
(C) S=-60+020Y
(D) s=—60+0-60Y

58/6/2 # Bl Eage | PT.0.




12. @

Partic
ulars Amount

(in & lakh)

((.1.) Gross National Product at market price
11) Consumption of fixed capital
(111) | Goods and Services Tax
(iv) | Subsidies

(v.) Net Factor Income from Abroad
(vi) Changes in Stocks

(vii) | Unexpected loss of a fixed asset

OR

(b) Define Net Factor Income from Abroad (NFIA) and discuss its

components. 3

13. (a) “An economy is operating at under-employment level of income.”

What does this situation indicate 2 Discuss any one fiscal measure

to tackle this situation.
OR

ing a hypothetical numerical example, how a given

(b) Elaborate us
initial increase in investment affects the level of final income of the

economny.

4. “In the 1990s, on the advice of Reserve Bank of India (RBI), the
Government of India took a decision of hypothecation of gold reserves to

different nations.”
statement, discuss briefly the role of Central Bank

In the light of above

as Banker, Agent and Adviser t0 the Goyernment. 4
L
L{gtsale © #® P10
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! ggregate D
Y Autonomous Invest ¢mand (AD) in an imaginary economy : 4

¥ ment &
(i) Investment Multiplier (K()IO) 5_ ¥ 200 crore

ii) Level of Income (Y) = T 4,000
; crore

Autonomous m
5 ¢
Onsumption expenditure (€) = T 50 crore

16. (a) ()  Suppos

ecolzf:)mi: \fi};elz are only three firms in a hypothetical

followin , t B B and C. During a given period of time, the
g transactions were under, taken by them :

D Fi
lrn} A sold goods worth ¥ 2,000 to firm Band % 1 200
to Firm C. v

Flrn_l B sold goods worth % 1,100 to Firm A and % 3,500
to Firm C.

Firm C sold to households for final consumption,

goods worth % 5,700.

Estimate the value of Net Domestic Product at Market Price
(NDPyp) assuming depreciation to be 120. 3

(ID)

(1IT)

(ii)  Explain the likely impact of construction of 2000 new schools
providing high-quality education in a nation on Gross

Domestic Product and welfare in an economy. : 3

OR
() (i) Distinguish between Real Gross Domestic Product (GDP)
and Nominal Gross Domestic Product. | 3
(ii) As per a news dated April 11, 2023 :
«Flectric Vehicle sales crossed one million mark in FY 2023.”

Analyse its impact on Gross Domestic Product (GDP) and

economic welfare. 3

58/6/2 # 13| Page =9 P.T.O.
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17. Read the following text carefully :

provided by the market mechanism. Exam

defence, roads, government administratio
public goods.

ples of such goods are national
n etc. which are referred to as

There are two major differences between public and private goods. One,
the benefits of public goods are available to all and are not only restricted
to one particular consumer. For example, if a person wears a shirt, it will
not be available to others. It is said that this person’s consumption stands
in rival relationship to the consumption of others. However, if we
consider a public park or measures to reduce air pollution, the benefits
will be available to all. One person’s consumption of a good does not
reduce the amount available for consumption for others and so several
people can enjoy the benefits, that is, the consumption of many people is

not ‘rivalrous’.

Two, in case of private goods, anyone who does not pay for the goods can
be excluded from enjoying its benefits. If you do not buy a ticket, you will
not be allowed to watch a movie at a local cinema hall. However, in case
of public goods, there is no feasible way of excluding anyone from
enjoying the benefits of the good. That is why public goods are called
non-excludable. Even if some users do not pay, it is difficult and
sometimes impossible to collect fees for the public good. These non-paying
users are known as ‘free-riders’. Consumers will not voluntarily pay for
what they can get for free and for which there is no exclusive title to the
property being enjoyed. The link between the producer and consumer
which occurs through the payment process is broken and the government

must step in to provide for such goods.

58/6/2 # 15| Page 2 P.T.O.



On the basis of the o
: v
following questionsg - slven text and common unde e
y rs i
(a) Describe how the s anding,
'nment’s

impact 1 . '
s ? S COmmunity welfare " B

(b) Define free-riders. Explai |
in the context of public goz)ldzhe Ch

answer the

allenges posed by the free-riders

SECTION B

| Indian Economic Development
18. White Revolution is associated with

(Choose th 8 .
(o) Horticulture st .o ption to fill in the blank)
(B) Fisheries

(C) Dairy Production (D)  Animal Husbandry

19.  In China, under , peasants were provided with pooled land to

create larger fields that could yield greater output and they shared farm
implements. 1

(Choose the correct option to fill in the blank)
(A) Joint Farming System
(B) Commune System
(C) Great Proletarian Cultural Revolution
(D) Green Revolution

20. Study the following image and identify the measure adopted by the
Government to improve agricultural marketing. 1
' (Choose the correct option)

(B) Regulated markets

: (D) Dissemination of information

(A)  Cooperative credit societies

(C) Transportation facilities
o ———
EEE
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«The Indian Go
L Tlllding limit (owjlernn?ent adopteq 4 I

= P D) for an Indjvi e fixing maximum land

It is commonly known o Vidua] ”

~ Vi :
(ChOOSe the ¢ :
(A) Green Revolution orrect option to fill in the blank)
(C) Marketable Surplys (B)  Land Ceiling
(D)  Golden Revolution
ify, which of t .
24.  Identify, W oLt following correctly defines liberalization. 1
(Choose the correct option)
(A) g}‘g{;g)ht sale of part of shares of Public Sector Undertakings
S
(B) Increased integration with the rest of the world
(&) Removal of restrictions imposed by government on different sectors
of the economy

(D) Focus on import substitution
25. Which of the following country/countries followed the Five Year Plann'ing; :

structure of economic development ? (Choose the correct option

(i) India el (Bloets

i USA
(iii) Pakistan @)
e B) (i) and (i)
il
(A) (), (i) and (i) ((D) i
(C) () and (iv)
e ay be defined as the measure of th‘e extent of
2% indeo cial and political decision-making. 1
’ 0 o t.on in SO . :
demographic participa I(Choose the correct option to fill in the blank)
(B) Liberty
E i _
(A) conomic i
(C) Health
EEE
= 91| Page a8 P.T.O.
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27.

28.

29.

Read the following stateme

Statement 1 : nts carefully .

Emplo
yment is an actjv;
means Of 1 . CtIVIty Wthh (] ;
Statement 2: A worker lzfse 131100(1 o e famirll;bles B i o e
€ one w . y
Gross Domesti i dho contributes to the process of
product;i : oduct (GDP) b i i
I . : ive services. y rendering his
n 'Ch? light of given statements, ch

following : » Choose the correct option from the
(A) Statement 1 is tru
et e and Statement 2 is false.

ent 1 is false and Statem i
Bk #hoth Stat ent 2 is true.

atements 1 and 2 are true.
(D) Both Statements 1 and 2 are false
(a) Glr)urlng the British rule, contribution of industrial sector to the

ros.s Domest.m Product (GDP) remained very low.”
Justify the given statement with valid arguments in support of
your answer.
OR

(b) “The real motive behind infrastructural development under the

British rule was not to provide basic amenities to the people of
India but to subserve various colonial interests.”
Do you agree with the given statement 2 Give valid reasons in

support of your answer. 3
On the basis of the given image, explain the source of human capital
formation which may contribute to the economic growth in India. 3




Note : The following q

30.

31.

32.

33.

B

. uestion is j :
I o for the Visually Impaireq Candidates only
Explain 1
nvestment in | ion’
format; B ducation’ as g Source of humgay capital
(a)

“IT can play a critical role in achi

eving sustainah] d
and food security in the 215t e development

century in the country.”
Justify the given statement with valid arguments,

OR
(b)

Evaluate any two factors that led to the rapid growth in economic
development in China.

“Ram was employed for less than 10 days in a company. He does not get
social security benefits.”

Identify and explain the nature of employment indicated in the above
text. '

Read the following text carefully :

Growing carbon footprint of industries have put power am'i ‘steel
sector in the spotlight as the major contributor to the climate c.ris1s. T.he
challenge of climate change can be tackled only by making our 1r.1dustr1es
and businesses follow practices and processes that reduce their carbon

footprint. It can be possible only with green financing.
Green financing aims to increase the level of financial flows (from

banking, micro-credit, insurance and investment) from the public, private
and not-for-profit sectors to sustainable development priorities.

Global green finance has also started chasing Indian companies.
Global development finance institutions and funds are ready to offer
long-term support (both equity and debt) at cheap rates to projects like

solar energy and hydrqpower.

Explain the importance of credit availability in rural development. 4

E

Green finance can positively affect environment quality, economic

dev

elopment and financial issues that promote the green economy, such

reducing greenhouse gas emissions, improving energy efficiency or
as :

enhancing the organic economy.
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